Bohr models

At the beginning, we learned about the
“stadium seating” view of chemistry,
that electrons will go down to the
lowest orbital possible. This is true,
but we need to learn that orbitals have
different shapes and energies. We first
drew all orbitals as circles. This is
incomplete info, although very useful
for drawing electrons. The Lewis Dot
Structure is related to the Bohr model.
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S Orbitals

The first two electrons on the row will form

a spherical orbital. The shape they occupy
is described as round, like a ball. It is three
dimensional. No matter which row (period)
we're discussing, the first two electrons
always occupy an S orbital. The S orbitals
are always the first to fill. The first period
has an S orbital ONLY

P Orbitals

The next six electrons will go into

elongated orbits. These are called P

orbitals, or perpendicular. They exist on the
three axis planes — the X, Y and Z axes. The
reason the P orbitals can hold six electrons is
that there are three options: left, right, forward,
backward, up, and down.
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